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5 S 5 Exam 1
Linear Algebra, Dave Bayer, September 26, 2006
Namme: Solvhoms
[1] (5 pts) | [2] (5 pts) |[3] (5 pts) | [4] (5 pts) | [5] (5 pts) | TOTAL

Please work only one problem per page, starting with the pages provided, and number
all continuations clearly. Only work which can be found in this way will be graded.
Please do not use calculators or decimal notation.

[1] What is the set of all solutions to the following system of equations?
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[2] What is the set of all solutions to the following system of equations?
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[3] Express the following matrix as a product of elementary matrices:
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[4] What are the determinants of the following matrices? What is the determinant of the
corresponding n X n matrix?

100 'Ql 00 0]
I ERV S I HERR T N
FO) 13 0?:1’, 60131
N) > _ [\0JO 0 1 3|
F()=3 ) FD ey
F(2=3
21|
e |32l gl = +al3)- s
=G5
\;E:)):ISLH FG) = 3F(@) -F(O) = 3:3-3=2
3|3 101|000 C -3\ 3VO[_
12 '3 | 13\
0\3 ol3 o\3
F(4) = 3F(%)—F(2)=3'2\-—%:55
3|31 06| [looo -4
" E?;O N=io|=272y |~ 210
‘ 0131 :3é 13
001> loo13 ' o3
()= 3F(4)-F(3)
‘ = 2.6 -2l = |y4
f k__x/
_njoet patn: F(n) = 2F(-) - F(n-2)
§ ;‘:Sl hexe F()=73, F(2)=3
Llr
5

Page 4

Continued on (back of) page:



1

{

N

\

[5] What is the determinant of the following matrix? What is the determinant of the

corresponding n X n matrix?
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[5] What is the determinant of the following matrix? What is the determinant of the

corresponding n X n matrix? AT 1{1_' F(J) s 3
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